PKR HW-01 CZ Jméno:

Body:

1. Vynéasobte polynomy f a g
f=22"+322+52+1

g=12>-5
2. “Vydeélte” polynom f polynomem g
f=2a% 72" +52% —142% — 242 -2
g = 2 =5

3a. Vypocitejte charakteristicky polynom f(\) matice

01 00
0010
A=10 001
a b c d
3b. Pro charakteristicky polynom f(\) matice
01 00
0010
A=10 00 1
a b c d

najdéte feseni rovnice f(A) =0proa=—18b=9,c=11,d = —1.

4. Viz your input data v Brute.

K teseni pouzijte dalsi papiry. Podepiste je a prilozte je.
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1. Multiply the polynomials f and g

Name:

Points:

f=22"+322+52+1

g=x2—5

2. “Divide” polynomial f by polynomial ¢

f=2a% 72" +52% —142% — 242 -2

g=1>-5

3a. Find the characteristic polynomial f(\) of the matrix

Q@ O OO

SO O

o O = O

0
0
1
d

3b. For the characteristic polynomial f(A) of the matrix

QO OO

SO O

o O = O
QU = OO

find the solution of the equation f(A\) =0 fora=—18,b=9,c¢=11,d = —1.

4. See your input data in Brute.

Use additional paper sheets if necessary.




